Forecast from
FP&A or
S&OP,

t = next 12
months

Response
function
slopes, ZS
Assoc
t=-1

A4

Max Profit FP&A
Projected income
statement,

t = next 12 months

Max profit
forecast
t= next 12
months

EMP (max pft
fcst & optimized
supply chain)
t = next 12
months

f

EMP (base line),
t=-1

Max Profit S&OP
plan
t = next 12 months

Y

Changes to FP&A

*———— supply chain to make

it optimally feasible

A

Optimized
supply chain
t = next 12
months

EMP Data Flows

A

Changes to S&OP
supply chain to make
it optimally feasible




